

$$\int_{R=-\infty}^{+\infty} f(x) = \sum_{n=-\infty}^{+\infty} C_n e^{\frac{j n \pi}{2} x}$$

$$C_n = \frac{1}{y \ell} \int_{-\ell}^{+\ell} f(x) e^{\frac{-j n \pi}{2} x} dx$$

$$\frac{1}{2}\int_{-2}^{+2}f(x)g(x)\cdot dx = \frac{1}{2}a_0d_0 + \sum_{n=1}^{\infty}(a_nd_n + b_n\beta_n)$$

The
$$\int_{-R}^{+R} f(x) dx = \frac{1}{r} a_0 + \sum_{n=1}^{\infty} (a_n + b_n)$$

$$f(x,y) = \frac{a_0(y)}{y} + \sum_{m=1}^{\infty} a_m(y) \cos \frac{m\pi}{2} x + b_m(y) \sin \frac{m\pi}{2} x$$

$$\begin{bmatrix}
 a_{m}(y) = \frac{1}{\ell} \int_{-\ell}^{+\ell} f(x,y) \cos \frac{m\pi}{\ell} x \cdot dx \\
 b_{m}(y) = \frac{1}{\ell} \int_{-\ell}^{+\ell} f(x,y) \sin \frac{m\pi}{\ell} x \cdot dx
 \end{bmatrix}$$

$$am(y) = \frac{am_0}{Y} + \sum_{n=1}^{\infty} a_{mn} \cos \frac{n\pi}{Q} x + b_{mn} \sin \frac{n\pi}{Q} x$$

$$bm(y) = \frac{Cm_0}{Y} + \sum_{n=1}^{\infty} Cmn \cos \frac{n\pi}{2} \chi + Dmn \sin \frac{n\pi}{2} \chi$$



ه فع به بارسال و $\frac{1}{y_{\pi}} \int_{-\infty}^{+\infty} f(\chi) \cdot d\chi = \int_{0}^{+\infty} (A(\omega) + B(\omega)) \cdot d\omega$ المعانى المناطلة العالى المناطلة المنا willes of the desire of the state of the sta $\begin{bmatrix}
F\{f(x)\} = F(w) = \frac{1}{\sqrt{\pi}} \int_{-\infty}^{+\infty} f(x)e^{-\frac{1}{2}w} dx \\
F(F(w)) = f(x) = \frac{1}{\sqrt{\pi}} \int_{-\infty}^{+\infty} F(w)e^{-\frac{1}{2}w} dw
\end{bmatrix}$ * F { af + Bg} = a F{f} + BF{g} * $F\{f(t_t_0)\} = e^{-i\omega t}F\{f\}$ * $F \{ f(t) \} = (iw)^n F \{ f(t) \}$

ييوست :

شمــاره :



يننهم بهتاب

*
$$f\{f(at)\} = \frac{1}{|a|} F(\frac{w}{a})$$

* $f\{t^nf(t)\} = \frac{1}{|a|} \frac{1}{|a|} \frac{1}{|a|} \frac{1}{|a|}$

$$\int_{-\infty}^{+\infty} g(s)f(t-s).ds = \int_{-\infty}^{+\infty} f(t-s)f(s).ds = f_*f = f_*f$$

*
$$f_C = \frac{\gamma}{Q} \int_0^Q f(\chi) \cos \frac{\eta \pi}{Q} \chi \cdot d\chi$$

*
$$f_g = \frac{\gamma}{\rho} \int_0^{\ell} f(x) \sin \frac{n\pi}{\ell} x \cdot dx$$



پیوست :





30- line - blee 1

$$((\nabla u) = f(x,y))$$

 $(x,t) = f(x) G(t) \longrightarrow \text{deliberty silved}$ $U(x,t) = f(x) G(t) \longrightarrow \text{deliberty silved}$ $f(x), G(t) \nearrow B.C \text{ spiero be deliberty silved}$ $(x,t) = \sum_{n=1}^{\infty} f_n(x) \cdot G_n(t) \xrightarrow{\text{spiero}} \text{deliberty silved}$ $(x,t) = \sum_{n=1}^{\infty} f_n(x) \cdot G_n(t) \xrightarrow{\text{spiero}} \text{deliberty silved}$ $(x,t) = \int_{0}^{\infty} f(x,t) + w(x,t) \xrightarrow{\text{spiero}} \int_{0}^{\infty} f(x,t) dx$ $(x,t) = \int_{0}^{\infty} f(x,t) + w(x,t) \xrightarrow{\text{spiero}} \int_{0}^{\infty} f(x,t) dx$

معادله و مع Lo V(x,t) = [(x)G(t) _ of F Julien de _ - $J(x,t) = \sum_{R=1}^{\infty} G_R(t).f_R(x)$ معادله العلى المال العلى عن العلى ا two die bester deila production of the solution of the soluti - rist wheat Gr (t) se se who able in in the Utt - Clax = F(x,t) 8 Jes sher do les $U(\chi_{10}) = f(\chi) , U_{t}(\chi_{10}) = J(\chi)$ لل براه اولي

تاريــخ :

پیوست :

شمــاره :



چننبہ بھتاب

$$U(0,t) = 0$$

$$U(1,t) = \sum_{R=1}^{\infty} G_R(t) s \ln \frac{nR}{R} \chi$$

$$U(1,t) = 0$$

$$u_{\chi}(0it) = 0$$

$$U_{\chi}(0,t) = 0$$

$$U(\chi,t) = \sum_{n=1}^{\infty} G_n(t) S_n(Y_{n+1}) \frac{\pi \chi}{Y_n^2}$$

$$U(l,t) = 0$$

$$\int_{\mathbb{R}^{n}} \mathcal{L}(0,t) = 0$$

$$\mathcal{L}(0,t) = 0$$

. - while some some things of will be seen seen to the *

8 Cy 3 sobles 2 " Ser Sobler De vis Chos 8 Elica Jel La 0 " Lt - C'll xx = 0 ", " L(x, 0) = f(x) " 8 3/4 bil leb la 0 U u(x,t) = F(x)G(t) ____ spiero le do Chaifier Mendo 7 $U(x,t,w) = e^{-cwrt} (A(w)\cos wx + B(w)\sin wx) \triangle$ * $\omega(x,t) = \int_{-\infty}^{+\infty} e^{-c\omega t} \int_{-\infty}^{+\infty} e^{-(x+\omega)\cos wx} + B(\omega)\sin wx$ ("with in f(x) = Y) $\int_{-\infty}^{+\infty} e^{-(x+\omega)\cos wx} + B(\omega)\sin wx$ V asle in Eight who are the " «XX(00 " _____ blg_ wee *

veid-il ___ veinippi B.C ___ sline Lu Jed * على اعادلات بانتراك هاى مقطف B « Olijero 3111 8 Mel dir 0 * $L\{f(t)\} = \int_{a}^{\infty} e^{-st} f(t) dt$ t_00, fit)_00



پيوست :

شماره:



جنننهم بهتاب

 $\int_{0}^{R} \chi J(\alpha_{n} \chi) J(\alpha_{m} \chi) d\chi = \begin{cases} 0 & || L \neq || \\ \frac{R^{y}}{v} J'(\alpha_{n}) & || R = m \end{cases}$ * الرئاب و عبور - زر بالله ما م والو تعالى معلى داي والمعاسب دو. $f(x) = \sum_{n} a_n J_n(\alpha_n x)$ $\frac{R=m}{R^{r}J_{r}(dn)} \int_{0}^{R} \chi f(x) J_{r}(dn\chi) dx$ ه معادله رون السال لزار ۱۵ * (1-x)y"- /xy+ n(n+1)y=0 · -1«x«1 $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = \begin{cases} 0 & +m & 8 \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $\int_{-1}^{1} \int_{R} (\alpha) d\alpha = s \text{ i. i.b.} \\ \frac{1}{N} & n = m \end{cases}$ $n=m \qquad \alpha_n = \frac{\gamma_{n+1}}{\gamma_n} \int_{-\infty}^{+1} f_n(x) f(x) \cdot dx$



ييوست :





چنننهم بهتاب

Scanned by CamScanner

الان إ